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26. Choose the indirect speech for the
LE: | following direct sentence:i .
E[F_. He said, ‘I have been wamng for ages.’
_2) He said that he had been waiting for

ages, Y
(b) He says that he has beén waiting for
ages. N I
(c) He said that he has been waiting for
ages. *©
(d) He said that he is bemg waiting for
ages, '__W
27. Identify the correct spellm‘g1 from the
options given below. “:_.!_
(a) Enterprenure ]
(b) Enterpranore €3
/(,c) Entrepreneur
(d) Entraprenure
RN
28. Fill the correct form of verb,m the given
sentence. sl
Many a man d;eg for his
country. ;:S —
_lg) has (b) was
s (¢) is (d) have
" 20. Complete the sentence with proper
H reposition.
E% ]\?Neisuaﬂy fimsh work ea.rly i
=] Fridays. 2 '
(a) at (b) during
c) on (d) 1{};

30. Fill in the blank from glve_nloptions.
By next July, I in this office
for ten years.
(a) will work
(b) will have been work,mg
(c) worked >

(d) will be worked Ej
31. Choose the correct active"--fB‘rm of the
sentence. -,

They were seen to go outu |

(a) Isaw them go out,

(b) They were seen to go out.
(c) He saw them go out.
dl) We saw them go out.
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following sentence.

She wrote this article her
holiday.
-(a) during (b) in
(c) on (d by
: [=]#% =]
33. What is the meaning of the word &%’E
‘ephemeral’ ? Ofs

Aa) Permanent
(b) Mysterious
(c) Temporary
(d) Loud
Identify the correct spelling from the options
given below. -
)a) Reservoir

(b) Reservoure

34.

(¢) Reservor

(d) Reservour

35. Fill the correct form of verb in the given
sentence. ' '
Either of these two pens
() are
(b) have

Ac) is
(d) has

| Direction (Q. Nos. 36 to 40) : Read the passage

below and then answer the questions that follow.

good.

It has been part of Nelson’s prayer that the British

| fleet might be distinguished by humanity in the

victory which he expected. Setting an example
himself, he twice gave orders to cease firing upon
the Redoubtable, supposing that she had struck
because her great guns were silent; for as she
carried no flag, there was no means of instantly
ascertaining the fact. From this ship, which he
had thus twice spared, he received his death. A
ball fired from her mizzen-top, which, in the then
situation of the two vessels, was not more than
fifteen yards from that part of the deck where
he was standing, struck the epaulette on his
left shoulder about a quarter after one, just in
the heat of action. He felt upon his face on the
spot which was covered with his poor secretary's
blood. Hardy, who was few steps away from him
turning round, saw three men raising him up.
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“They have done for me at last, Hardy I” said he.
“ hope not I” cried Hardy. “Yes”, he replied, “my
backbone is shot through I” Yet, even now, not for
amoment losing his presence of mind, he observed
as they were carrying him down the ladder, that
the tiller-ropes which had been shot away, were
not yet replaced and ordered that néw ones should
be roped immediately. Then that he:might not be
seen by the crew, he took out hi§ handkerchief
and covered his face and his stafsi Had he but
concealed these badges of honour from the enemy,
England perhaps would not have had cause to
receive with sorrow the news of battle of Trafalgar.
The cockpit was crowded with wounded and
dying men; over whose bodies he was, with some
difficulty, conveyed and laid upon “a.pallet in the
midshipmen’s berth. It was soon percewed upon
examinauon, that the wound was_mortal. This,
however, was concealed from all, except Captain
Hardy, the Chaplain, and the medi&fé_l attendents.
He himself, being certain, from the sensation in
his back and the gush of blood felt momentarily
within his breast, that no human care could avail
him, insisted that the surgeon should leave him
and attend to those to whom he n-ught be useful.

-36. Why did Nelson insist thaj: ‘the surgeon
should leave him and attend!to’others ?
(a) He believed that he couldrecover
without help O
(b) He felt his injury was nog serious
(c) He wanted privacy in his final
moments _
_Ad] He know he was dying and wanted the
surgeon to help others I}__

37. What is meant by mxdshlp{nan P
Ad) An officer of the hlghesUank in the

navy
(b) An officer of the rmddle!zj_ank in the
. navy 8
(¢) An officer of the lowest rank in the
navy '
(d) An officer of non-commissioned rank
in the navy

38. What qualities of Nelson'sz%;aracter was
revealed by this passage ? ,3
(a) Silence, confusion and détachment
(b) Cruelty, ambition and cunning
e} Bravery, patriotism and humamty
(d) Greed, pride and reckles$ness
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39. What do you understand by the El‘ﬁ
“mizzen-top” ? &]
(a) The highest point of ship’s bow
(b) The roof of the ships cabin
(c) The captain’s look-out post
/Ld) The platform around the lower part of
the most nearest the stern

40. Choose the antonym of “presence of
mind”,
(a) Quick thinking fb) Panic
(c) Attentiveness  (d) Alertness

41. Choose the correct preposition for

given blank in the idiom.
Cry split milk.
(a) on (b) at
(c) upon {d] over

What does nefarious mean ?
(@) Honest
(b) Morally bad
Extremely wealthy
(d) Very fearful

Choose the correct passive form of the

-sentence.

“The company has cut all the salaries.’

{a}- All the salaries have been cut by the
company.

(b) All the salaries are cut by the
company. o

(c) All the salaries should have been cut

by the company. .

(d) Salaries should have been cut by the
company.

" S

42,

— —

[ 43.

44, . Which type of noun is used in the sentence

- ‘The crowd was very big.’ ?
(a) Proper. (b) Abstract
(c) Common (})/Coﬂecﬁve_ B

Fill in the blank by choosing from the -
options given. =
He is suspicious
neighbours.

4d) from

(b) of

(c) before

435,

Be?

all his &

(d) none of the aboVe .
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46. Find the odd number out. 46. o wem W 9 6:4! 96
1,2, 4, 8, 16, 32, 64, 96 1,2, 4, 8, 16, 32, b) 96
(@) 32 ) 961 (a) 32 (d =
(c) 4 (d) 64> (c) 4 (<)
(2 &

47. A, B and C are employed to do a piece of 47. A, B ¥R C#H 529 F'ﬁ % o S Ry

work for Rs 529. A and C a.re supposed frar T | A 3R C I e Fm

[‘H% to ﬁmsh-— of the work together How Erl—g H ‘IE'f FATZ | B =1 fepa HTdT T
much shall be paid to B ? SR ?
(a) Rs. 82 (b) Rs. 437 (a) 82 ¥ (b) 437 TR
I,
) Rs. 92 (d Rs ;fé‘oo (c) 92 7R (d) 300 ¥

48. Which of the following pmré 13; NOT 48. frafaRea glﬁtﬁ‘éﬂ?ﬁ—m e AT T g7

correctly matched ? Flger — Jagfe fgra

(a) Kohler - Insight Theory=" (@) R -

(b) Lewin — Field Theory 'L;E;D ; (b) éﬁq ~ & _

(c) Skinner — Operant Conditioning : (c) T&FT - gfsha FgaA

(d) Pavlov - Stimulus Response Bond 3W g

Theory d } (d). 9T ~ I T
! : Pr=ffa

49. Which number has same property as of the } 49. frg dem § adt fafirea &, S 15

following numbers ? s p wEmsi A g ?

(957, 777, 876) — { (957, 777, 876)

(a) 999 Ab) 8945 1 (a) 999 (b) 894

(c) 697 (d) 9795 : (c) 697 (d) 979

— . Hod

50. From the following alternatives find the | 50. Prefufes freedl § & =8 frees gf E,

one that does NOT belong to*the rest. E St Ry freredt d A wEfE T 2 = '£

Yo iy 1¢
(a) DHG (p)/JN}Q : () DHG (b) JNR
(c) CGF (d) HLK ! (c) CGF (d) HLK
XL A } .

51. Pointing to a photograph a.woman said, | 51. Qeﬁﬁfﬁﬂlﬁ@maﬁaﬂtgﬁmﬂ?{%gm,
[Ei5[E “She is the only daughter of'my mother’s : “ag A0 | % R b v T 3" | 39 afgwn
P@‘% father”. How is the womanrelated to the = BT % =T J = a2 7

person in the photograph 7?7, *
_{2) Mother (b) Grand-daughter (a) T (b) fe
(c) Grandmother (d) Daughter (c) <&l (d) &
52. For any two sets A and B, what does 52. FRdi <) Hﬂﬁiﬂ'l’ A3IRB % e, A - (A - B)
- (A~B) equal ? fopas = € 2
(a) A-B (bJAuB (@) A-B (b) AUB
~Ic) B (d) AﬁB (c) B (d AnB
53. Find the missing number n‘i .the following | 53. fr=fiRaa dEamedl € SEer | qod HEdl W
number ser‘;es {- r--3, Hifdm |
3] 5! 2! 10! o 15: 18! io !-_:']J 3, 5’ 8’ 10' ?, 15’ 18, 20
a1 (b) 11 ‘ (a) 13 (b) 11
(c) 14 L (c) 14 (d) 12
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54. Every type of communication is affected

by its
Context
(b) Non-regulation s
(c) Reception )
(d) Transmission Lo
Cra

55. A 280 meter long train j§ moving at

60 km/h. The time taken by:the train to
cross a 220 meter long tunnkéi,i is

(a) 15 sec. (b) 30 sec.
(c) 20 sec. (d) 25 sec.

; . ) ‘_:l:};.

56. Pointing a photograph, a man said, “I have
E.' E! no brother and sister but{the father of
E-. that man is the son of my father”. Whose

photograph is it ? nth
_Ma) His son’s (L
- @]

(b) His own
(c) His father’s
{d) His nephew’s

57. If “No scientists are philosophers” is true,
which one of the following propositions is
true ? g

_Ad) Some non-philosophers are not

non-scientists. S
(b) Some philosophers are scientists.f
(c) No non-philosophers are;scientists.
(d) All scientists are philosophers*

58. Two persons A and B working together, can
ErE dis 2 trench in 8 hours, wh'ilrgeHA alone can
H% dig it in 12 hours. In how rjn'ﬁny hours B

alone can dig the same trench)?
(b) 30 Hours
(d) 28 q}ﬁ’j;rs

24 hours
(c) 26 hours

Eleven friends meet at a pall?tjif. Each one
shakes hand with each of the others once.
The number of possible hand shakes is

(a) 65 (b) 22
g} 55 (d) 56
60. At present, the mothers ageyis, three times
the daughter’s age. After twelye years the age
of the mother will be twice of her daughter.
At present what is the daughter’s age ?

(a) 18 year (b) 12 year
(c) 16 year
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(a) 15 &S by 30 ¥HTS

(c) 20 ¥HS (d) 25 qHS

T R AT Gk W gL T I A
g1, A FE S T I T & TG I I A
o B 1 T 27 | Tg OIS fREH § 7
(a) I T A

(b) SEHT ST

(c) ek Fra <1

(d) IEH WA I

ot S A P i 27 W E?
AP AW AT TE R ? Elﬁf
(@) F RIS S T E |

(b) F TR FEF E |

(c) Y IrEiEs di 7 @ |

(@) wh I g € :

2 = A 3K B T @Y w1 A R
Ter 8 W A @g R §, wAfh A IR
12 w9 § @g T & | B 3R T T R
qux 3 Qe T & ?
(a) 240

(c) 269w
mﬁaﬁmﬁﬁ:ﬁﬁlmmwaﬂ
mﬁaﬁ%|m—ﬁm@wnﬁﬂﬁw%
(a) 65 (b) 22 )

(c) 55 (d) S6

g wm W 6 g I AA R a1y § @
3 | 7w ¥ are o R oY 3 A Y
AR S | 5 98 R IR 7

(@) 189 )b)’lﬁa‘*f
(d) 1479
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(d) 28w
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61. Two numbers are in the ratio 3 : 5. If each
number is increased by 10, the ratio
becomes 5 : 7. The numbers are

s,
Ly ¥J

(@ 3,5 ‘%' @ 18,30 3
. Co o 2

() 12,20 Y& (@15, 25! s

62. If the simple interest on a séljn of money
EIEEEI at 5% per annum for 3 years is Rs. 1,200,
EE;E find the compound interest on;the same

sum for the same period at the same rate.
M) Rs. 1,261
(¢) Rs. 1,400

(b) Rs. 1,690
(d) Rs. 1,575
63. The choice of communication partners is
influenced by factors of !

A

CIZU-2-24
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————— T 3¢ | afe v wEn
?O?;é;;;%s ;7 AR, A
gEamn 8
(a 3,5
() 12,20

Ifz frdf) 0l |3
o | YRS = 1,200
¥ fre 36 @ & St TR W

(@) 1,261 %R (b) 1,690 T
(c) 1,400 TR (d) 1,575 ¥4
mmwwmmmm

(b) 18, 30

(@) 15,25
8T & forT 5% wfead hit
T B, T 39 IEfy
=< 8

62.

63.

' _Aa] Utility, secrecy, dissona.ti:f_t;'t_a,,
(b) Proximity, utility, loneliness
(c) Secrecy, dissonance, deééﬁtionr
{d) Dissimilarity, dissonancefcieviance
64.

WP
4{/{,

The graph of a linear equation
2x + Sy = 10 is a line, which meets the
X-axis at the point e
(8) (0,2) () (2, 1),
e} (5,0 (@ (5.2
65. If all the sides of a parallelogram are
equal and one angle is a right-angle, then

it is called as e
(a) Rectangle ~AB) Square
(d) Rhombus

(c) Trapezium
66

=]

What are the seven secrets of attractive
body language ?

Face i
Gestures.- '
Cultural

Head movementv
Comfortable

Eye contact
Reflection

Posture

Territory

10. Mirroring e

Select the correct answer fromtthe code

given below : £
Adq] 2,3,4,5,

———— ———— o o ke e o St PR Pl A SR S . S | AP St i g e Y St

TP

PR NOnE D

s it " i ] o o S B M. o i} e o Wt T St Mk o s et Wk i e ot Sy PR

Iratear, fase

Yt G 2x + Sy = 10 & @ TH Wl R,
T x-3181 1 g firg T sfede w1 ®, 98 @
(2 (0,2) (b) (2, 1)

(€ (5, 0) @ (5,2

64.

65. IR frdt v =g i it yod SR g 3
T 0T AR 3, O 3T T FEA 8 ?
(a) =@ (b) =t
(c) Twer (d) FFEgs

66. 3Ty ITTEE WY1 & Fa @ FJ1 8 ?
1. IgQ
2, gE-9E
3. WIS
4, & H v
5. IHIEH
6. TG A Hegh
7. Afafor
8. 1 (ITRT)

9. TR

10. ufrequ (afafafrem)

9 o e e B e ¥ o 9w ==
Hifi

(@) 2,3,4,5,6,7, 8

(b) 3,4,5,6,7,8,9

(©) 1,4,6,7,8,9, 10

(d) 1,2, 4,6,8,9, 10



————— — ———
——— —a. o
I — et — —— p—

Aal Administrative power .,
(b) Empathy Oy
(a2

wernbi,

59,

If Sunday falls on the third date of a month,
then which date will fall after three days of
fourth Wednesday of the same month ?
Aa) 30 (b) 31
(@ 27 (d) 29 ;=

69. Which one number is like the given
number set ? G2

(¢) Positive thinking
{d) Courtesy

&

LY

W (363, 489, 579) .
U
{a) 281 (b) 562 5y

(c) 382 Ay 471

70. Among five boys A is taller than B but not |

taller than C. D is taller than C but not
p‘% taller than E. If these boys are standing in

a row in increasing order of theu' heights,
then who will be at first place ?

_'_'___._'_...’

,\Laa E (b) D O
J—

) C & B 5

71. A good communicator bfé‘sg'ins his/her
presentation with a/an

(a) Non-sequitur

/(b] Ice-breaker

1
|
H

)

L.
(c) Complex question 22
(12
(d) Repetitive phrase —
:;r:“-
79 How many times from 4 p.mi.-to 10 p.m. the
hands are at right angles ?
(a) 9 (b) 6
oy 11 (d) 10 g,
73. What will be the next numbet' in the

following number series ? 't“‘ﬁ
48, 24, 72, 36, 108, ?
4 (o

(a) 36 (b) 6459
(c) 72 54
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68. AR ws Trw &t el fafy = War g, @ @

e % = gyan 3 & 7 T wR-d Ry
&t 7

(a) 30 (b) 31

(©) 27 (@) 29

Bt s gem Refafes demnst & o %
TEE ? |

(363, 489, 579)

(a) 281 “(b) 562

(c) 382 (@) 471

o wedi 3 A, B Y o & g C & o 6
21D, CA wwan @ g E & o Al B 1 AR
=7 TP B T dfET F TR Tgd s F
F e R 9w, @ TR IR W HH I ?
{a) E (b) D

© C (@) B

T IS TS U Wi Feterad J
J Prad 0T T 8 7

(a) il (aranfehes Fresre)
g g (e )

(c) Ted A

(d) G ey

EEE
4:00 T A ¥ 10:00 T IFWEA .@
3 wea Pl R gt 90° 1 Hon RN E 2
(a) 9 (b) 6
(© 11 (d) 10
Preffias g AEen 3 swel T w1 g ?
48, 24, 72, 36, 108, ?
(a) 36

69.

70.

7T1.

72.

73.

(b) 64
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74. Deepak said to Nitin,

$ “that’ boy playing
with the football is the

. younger of the two
Ei}@ broﬂl?m of the daughter of my father’s wife”,
EiaE How is the boy playing football related to

Deepak ? n‘T*

(@) Son (b) Neﬁﬁ%w

(c) Brother (d) Cousin

(T
75. When the mirror image of a watch was seen,
1t showed 3 : 15, What was the real time ?

A4 8:45

(b) 3:15
(c) 9:45 d 7: 4"5}-
o
76. Find the odd one out from thé given
alternatives, oy
(a) Sphinx (b) Pyramids
I2) Swastik (d) Mummy

77. What type of process is decision-making ?
}- Intellectual process
) Somatic process
(c) Social process
@'Psycho]ogical process

—
R

ats

SRS A T A

1

78. A number is divided by 84" and leaves

remainder 37. If this numbér is divided by
12, then the remainder will be

(a) O (b) 3
~fc) 1 (d) 2

79. In reference to Prob]em-Solv_‘i'r:l-:g,

79.
who said, “to act is easy, to think is
hard.” ? Y
(a) Thompson (b) E. M.:Forster
(c) Jean Paul (d) Goe?qie
80. In the following figure if AB || CD. Find the | 80.
value of x°.
[=]e3[=] . E
o
i} A
£\~ 100° s
§'_/ [
e 2 1yl
5 50° U
A 8 >
(a) 60° ., (B 10077
(c) 1807 e A
__________ 0100

75.

76.

78.

S L s ot S § T et T s S|
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3 fifte & g, eI U I 9 WIew
?i‘qzmaﬁqc—-ﬁﬁaﬁ%ﬁmﬁﬁﬁm
%,,lwéﬁmmmﬁ%ﬂmﬁ

R 7

(@ ¥ () gt
() W (d) == 9§
v o Tt gdur iR a e,
3 : 15 91 &7 o7 | JRafas 999 =7 o7 ?
(a): 8: 45 (b) 3:15
(c) 9:45 (d) 7:45
= e 1 Rreredt # A g fsrer = g |
(a)fa'm'\q (b)ﬁ'ﬂﬁl?s'
(c) TR (d) ==h
. ot 1 R s ) e 2 7
(a) sifgm wfman
(b) e wlsmam
(c) wmfrEr g
(d) wawR wfseaT

Ife oo T 3§ 84 A Wi fean st &, A 37 Jwwe
=1 ? | A 75t sem A 12 @ wm e @
T ATHA B ?

(@) O (b) 3
(c) 1 (@ 2
G o0

FHET-FAYE & g ¥ e vt R . mecky
B BT ST R, e BT R | 7 =25
(a) YrIEA (b) 3. WH. IR
(c) SfF qie (d) mef
Pt fm 3 af aB || cD 2, 7t x° &
A 8P i

E

xo

100°
C
50°

A B
(a) 60° (b) 100°
(c) 80° “{d) 50°

St — e e — ey ey
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overhead expenses are Rs. 15. H
[ . 15, He sells the
radio for Rs. 300. The profit percent of the

retailer is Y
(a) 10% *'.':,\I'} (b) 52%
) 25% L (d) 50%

82. Find the missi.éfg_f:number (?) from the
EEE following figure.”

PC.-. :.' g 12 12 18
= ) a
16 12 20/ |3
5 12 ? 6
197 156 366
(a] =6 % (b) -8
ey 6 o @ 8
e

A
83. At what angle;}{le hands of a clock are
inclined when it.is half past 8 ?

(@) 70° 1 (b) 60°

(c) 80° ~Ad] 75°

What is ‘star b}-:‘:_i"";sting’ ?

(a) It is related'to individual’s attraction

284,

(b) Itisa meth"g’a of measurement
(c) It is used for good communication

gy Itisa creative thinking and
brainstorming technique

question mark ?7;
143, 275, 495, 23

(a) 243 ©2 (b) 683
o) 561 o (d) 927

.

1-_“; i
86. Walking at the rate of 4 km/h a man
covers a certain distance in 2 hours

EE&E 45 min. Running at a speed of 16.5 km/h,
EE¥ the man will cox(@j;_' the same distance in
R
(@ 40 min. G
L)
(b) 55 min. 15.sec.
L
(c) 45 min. ¢
(d) 50 min. 15 sec

4......._—_._.._....—.-_....—--.._.....,—-—-“_——-—-—-—-
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(@) 10% (b) 52%

(c) 25% (d) 50%

frefiea fomr % ¥ g v (?) s AT |

82.

12

16

5
197
(a) -6
(c) 6

12

12

12
156

18
20
?
366
(b) -8
(@8

8:30 S v < gt et BT/ FR A R 7

(b) 60°

00
W

(a) 70°

(c) 80°

RN ST TR 7
(a) 7R A & e § T

(b) ¥ =T <t uw il 3

(c) FEFT I Jew HuR % fora g @
(d) & TETCHS B 3 S T

(d) 75°

o
B

w97 g % TIW W - T amft ?
143, 275, 495, ?

85.

(a) 243 (b) 683
(c) 561 (d) 927

41#.&?1%@@11%%3&%«@3:@&2
m4sﬁmﬁ@ﬁ%ﬂ@mm%l
16.51%5.133.9'%%1“%@7[%'@@@“3'631@
wq@ﬁmﬁmﬁaﬂm ?

_Ad] 40 fire
(b) 55 fiFe 15 878
(c) 45 e
(d) 50 B 154578

- _.,___......-..——-—-.......—-——..-.—.—._...........—-—-—-—

86.



CIZU-2-24

et o e P T S — e e

e SR

. lace of X ? :
g |
bl e, 8

Bl . L7 1

9 7 8 2
3 4 7 12
6 10 X4l 6
(a) 2 W (b) 8
(c) 3 Jd) 4

If BLINK is coded as 21291411, then
how will GREEN be coded ?

I
(a) 1455178

ORI AN

L
-t

g

88.

o,

-

(b}- 7185514
Sk
() 29121411 (d) 31755‘_,]:}5’,

Find the next term of the series:-
0, 4, 18, 48, 100, ... X8

I’
(a) 120 w1
(c) 160

89.

(b) 180
(d) 170
90.

circle is
(@) 7 unit
(c) 4 unit

AbY 2 unit™

(d) = unit.)

91.
by 3,4, 5, 6, 8is e,
(a) 900 (b) 3600 (i1
(c) 1200 (d) 2500

(b) 21 year’
(d) 12 year.

e,
£r]

(a) 18 year
(c) 15 year

93, .
] WXUV Y.
(d) UTSR .

(a) NMLK
(c) RQPO

4.
e-mails in a group conversation ?

(a) Using signature in e-mail !’_,.;

Eir

(b) Spell-checking the e-mail ;"5

/[;) Replying using “Reply All”;i:g\l?.ture
LA,

unnecessarily i
(d) Filling in the subject line

In the following table, what will come at the

If the perimeter and the area of a circle are
numerically equal, then the radius of the

o
The least perfect square which'is divisible

The ages of Ravish and Shikha are in the ratio
3 : 8. Six years hence, their ages will be in the
ratio 4 : 9. The present age of Ravish is

Which one is different from the rest three ?
vl 2

What should be avoided while replying to

88.

89.

90.

91.

92.

93.

94.

[5]
8 5 7 6 %ﬁ
9 7 8 2
3 4 7 12
6 10 | X 6
(a) 2 (b) 8
(c) 3 (d) 4
af2 BLINK Y 21291411 % ¥4 & g fora
S 2, 7Y GREEN ® fper ¥ & Rfea form
@ 7
(a) 1455178 (b) 7185514
(c) 29121411 (d) 8175514
goft 0, 4, 18, 48, 100, ... 3T I TG Hd
R | :
(a) 120 (b) 180
(c) 160 (d) 170
of o ga & oy 3R SFEe GEAAS W
WA 8, @ g9 @ B ]
(2) 7 TR (b) 2 5T
(c) 43T (d) = T
TR S @ AW 3, 4, 5,6, 8 H A= ]
(a) 900~ ) 3600
(c) 12007 (d) 2500
e 3t R i 3y w1 oETE 3: 8% | AR
6 o g STHY I F I 4 : 9 A, T AR
H witer bt ag w4 ghft 2
ey 1899 (b) 2198
(c) 15=4 (d) 12 9§
WA IR 2
(), MMEC () WXUV
(c) RQPO (d) UTSR
Tg e & $ier o1 o 3 T el w=
e ?

(2) S8 H TEwER % IwE @

(b) A Al adt e &

(c) ot SmmargeRar % “Reems e (Reply All)
B IEM Y

S S
e e e P ——
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5. If 8% of the month falls three days afte
9 y r

Sunday, what day will be ofix17th of that

month ? s
() Thursday  _fb) Friday
(c) Tuesday (d) Wedriésday
Find the missing number %m the third
tnangle
mé@ /X /\
T 15
(a) 90 (b) 20 (J 5
(c) 10 (d) 15 C‘,ﬁ
Find the missing number. t.D
1225
(a) 639 (b) 641{_" -
(c) 542 (d) 52975
-

98. In a certain language SIMPLE is written

as ISPMEL and CHAPTER is written as
25% HCPARET. Then LFWORE stands for which
E word ?

(a) LOWFER (b) WO%EL'
(c) FLOREW (d) FLOWER

0)
99. The ratio of the angles AAC rancl ZB of a
non-square rhombus ABCD is4 4= 5, thevalue

of ZC will be
(a) 50° (b) 95°
() 45° (d) 80°

100. The linear equation 3x - 5y <15 has
(a) a unique solution -
(b) no solution ¥
(c) two solutions

£y
Ly

—
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o5, wdh i 3T i TR i R g 9 R,
3 5 7 ) g v B oA R B 7

(a) TEEIIER (b) AR
(c) T (d) TR

96. ?ﬁuiﬁgaﬁgcam:cmﬁml Eléﬁ

NN

l

cfld-)’inﬁnjte]y man_y: solutiOns(.‘_%

——— s o . Bt ST i et -t

(a) 90 (b) 20
(c) 10 (d} 15
97. qcaéwm@rﬁm [
1225
(a) 639 (b) 641
(c) 542 (d) 529

98, W [iFad Wi § SIMPLE w1 ISPMEL % &4 ¥

for@ T % 3 CHAPTER % HCPARET % &9
¥ feran o 3, &Y LFWORE forg g s g & 7

(a) LOWFER (b) WORFEL

{c) FLOREW (d) FLOWER

99. frdt wa=gys ABCD, St =i i R, & ®ior <A

%éBﬁTSXﬂWH‘} 5% | 99 £LC fovem wm =
?

(a) 50°
(c) 45°

(b) 95°

Ad) 80°
100. & @i Tl 3x - 5y = 15 %
(a) T IHIGT FHTH

(b) =1E & & B
() AR
(d) 7w w1 q = g

LS L e St S LA LS. S S ol S W . B St S S S S S P S .- ——
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